[image: image1.jpg]JBLX X 2013 J) =5 = e — 43
BFRE
HR 4 HHES_

LR 6 7, AR, 25 G, WA 120 . U 130 550 w
2 TERBETEEF L AEE S8 4 B 4% A
3 MEER—-RERMBEESEF |, % EESTL .
4 TEMFR L R SR 2B SO, AU R 6 TR S T
5. WG M RS2
— R A E 32 5, E4 )
AL I, Foo L — R AR
1. 9 MRARFHRRE
A9 B -3 C3 D. 23
2. WFBE AN, S Rl PR

rEE 7K

A B.
3. —BHNSERR, KRKUNE, e Bl —3K H&?MEUMW;:R MWHE
1 1 1 1
Ko B3 C5 D
4. HBRHR 0’ - 6ab + 90 SYMER, FHHBHERME( )
A a(b+3)? B. a(b+3)(b-3) C. a(b-4)* D.a(b-3)?

S EMy=hke-k5y= 7( ko O ) TR - FA AR R R HIRR AT AR

’\"‘/i/

N

A B.
6. WE, AE / BD, £1 = 120°,£2 = 40° ] 46&9&!&5
A 10° B. 20° C. 30° D. 40°

MERERE 1RO T)




[image: image7.png]zhongkao®=m




[image: image7.png]                                   北京中考网  bj.zhongkao.com


[image: image8.png]


[image: image2.jpg]7. # la-2]=2-a Mo MRETEER
Aa>2 B.a>0 Casx2 D.a<0
8. I PR AT IE J7 i R FF B

b1 & oF

AL B. [4 D.
ZREE(FE 16 5, G0N 4 5)

9. W¥y = HOAER . MREEER

10. B\ ZAMRIERSSES A LS
REFFHH O ABUOE TR, B .Z 2500} -
PR BRI AR T 22K %ﬁo
KEA:Sh_____ S}, 220

2001
1800 -

1 2 3745076017 18~ 9 AOH TR

11 FERE 2 + 52 + T8 (x - m)® + k BT, 200 m |k 200
k-m= .

12. EFW 4,B,C,0 , A,B,C,C, , AB,C,C; , WA
AEMEFTRO AR . KA LA, 4,
MR G, G G RIS
y = ke +b(k >0) Fa ik BHK
B(1,1) , B;(3,2) , M /R B, MA4F R

B, AR T I T GFw

>

ERER(FEE30 5, GES 5)
13, HHE: /2T + 3an 30° + (%)'2 —4(B-2)".
2-zx 1

14, B % +
373

o5 =1

VEWERE B 26T



[image: image3.jpg]15 BRI 42 -2 = 0 RRMRK (x -2)7 +2(x +3) = (2 -3)(x + 1) ML

16. BRI/ 16 MBCHi, AC = BC , LACB =90° , MN &1 4. C .
—RELK, AM L MNFM ,BN L MNFN. o,
SRAlE: AM = CN.

17. PIG RS RAM RS
Fedil o OV B O R TIX AR B M EL 17. 6 TT TG AOFR 2, B S8 200 T, 2 401 R
FiliE 5 01 800 7T, Z Rk B4 T 1000 T, (911 Z, BRI A 20T

18. S A6 WA AR R 20y o, — WMy = - 20 +2 89
FI%5 « MHZTFA B, 5 y HETR €, 5K HARSK
ERMLTEA,HAB = 2BC.

(1) R HBI R BT
2) PAExHIE, H MPC WTRET 12, IS 4
P AR

VR (R 20 5, SV S 53)
19. B QP , PUATE ABCD th, R L AC . BD MIZF & E, A

LABC = ZACD =90° , 4B = BC =62 ,tan LCDE = 2.

KL BD Wy A ABD MR b

20. EHLME, OO Rt A ABC f5MEI, £ ABC=90° ,
HPR OO, PAY) OO FH A, H PA=PB.
(1)RIE:PB & ©O0 #141%; P
(2)EMPA=2/3 ,BC=2,3k QO W¥5.

WEWFRE 3 A6 )



[image: image4.jpg]21§ Z PR A F A A SRR MR GE , R RS R
BIRBHIL 70 57,80 5,90 5100 1K PUFF RS B9 —Fh , 34 B ZIE R E T
78 100 S+ B hARS.
AR AR R T IR Z 5 S AR B B e L, e T 50 A
As

o w10 Ak
R RS A TR R I SE T

(1) REPEREADIG 100 SHOAZIFA G
(2) SRR R ZPHBE AR A AR T T 18 4 B o BB 3, LA L B
AR e X YRR R T AT L.

2. [ IMRAAE— TR 0 // b/ ¢ TEIRFHBRE T LHES L= MIE ABC =1
TASHHE a,b.c b
NSIF SRR T B | FR, A AEAM L b F M A LMAN = 60°, B
AN = AM GEEN{ECN L AN ZHK ¢ FAC EHR b LRR B BM = CV

AABC HFiR.

| 2
()EHSH TS 728 2 PAE— T EEM =M DEF EHEA TR a,b,0
L. ADHEAT;

(2) HHK a,b ZEMIEER 1, b,o ZIMIERH 2, WEE 2, Syprr =
EE 1P, AC =

VSJERE WA TG6T)

PHEREE XA 18310047855



[image: image5.jpg]AREB(ABEE2 S, EBETH,ENETHF E25EH)
23. BAHMPLK y = 3x* + mx -2,
(1) 3RAE: Fifs m HAEMTSEH, WWLR T « BEAPINI
(2)# m AR, SETF « (AR +ma -2 = 0 W B

%‘Eiﬂﬁﬂﬁ%&'le%ZE(K’ﬂfS—I‘%)ET,

Rm fH.
(3)2EQ) BT KL y = 36 + me -2 £ BT
TGRSR« WET, AR EIARMIHR A, 182
— AR G TS G 1l LV n A8 R
€ 551 (0,3) B « TATHELA 4 1K
BFilf n MRETEER

24, 40P, Bk MV SEBAB RBETAR 0 , K CHRDTEMLMN b, B LACN = LBDN =45°.
(1) 0P 1 R, 2% C 5450 AT FLAO = 0B 51 AC 55 BD HSURSCRILEXA;
(2) %1 1 ) MN 565 0 JRTH e FIANIE 2 R L, 40 = OB ,(DHIAC S

BD HBOR % RRBLE X AR EIMARSL? AL, WY #5 BL BR  5

(3) 4418 2 g OB B A0 1) k FFISBI MM 3,5k :,% (5]

D=JCERE B S WEE6T)



[image: image6.jpg]25, BHMIR Y = - = +ba+ o 5 T M A, BB,y WET A C HEHAC,BC D

LB 0B E—3h, W CD H—ti GINEIEHIE CDEF 3845 BF . # Supc =8,
AC = BC.

(1) SR RAT

(2)3RiE: BF L 4B ;

(3)3k LFBE W

(4) 24 D &H ~ WIEH @B S EA B ot & £ WHIES, W E ik gk’

BERFRE 6 (6 T




北京中考网  bj.zhongkao.com   版权所有  谢绝转载 


